Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

GX354-0_0P02616_W2_N02_200s.txt / MJD 50730.744572 / burstid= 148

Time [s]

; Grey line: exponential fit Peak flux: 2.894+/- 0.713 c/s/cm® ;
E Black line: power law + gauss fit Fluence : 23.23+/- 6.29 c/cm? —
= Dashed line: power law o ’ ) =
= Duration: 20.93+/- 6.19s =
= ‘ Best fit model: 1. E
E } Best fluence model: 1. 3
= } | \U\ | H | } |Be t duration model: 1. | | +
| W i WL e Ay Wi Lk
Hw j HHH | W W il | | ”HHH M W I \H WHH ‘N il \w It
; Exponential fit é
= Expon.time: 6.55+/- 1.59 s (chi*red= 0.73) =
= bt TR bbb T N PR T | bl =
= Wﬂﬂ iy it m gﬂ b HMH wﬂﬂﬂw e ﬂw Wﬁﬁﬁﬁﬁwﬂ I Mﬁm w i w Wi www wa I ﬂwHﬂﬁﬂwﬁﬁﬁﬁﬁg
; Power law fit é
E Power law index: -1.402+/- 0.296 (chi*-red= 0.74) =
- e L et bl b b b s bl
= W%Hﬂ Wﬂ by i m gﬂ i Wﬁ Wﬁwﬂw e ﬂw Hﬁ H+ﬂﬁmﬁ@wﬂﬁﬂ fi ﬁﬁﬂw w 'y W b ﬂmﬂmﬁw Hﬁwﬂﬂw h ﬂmwﬂwﬁw&%
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 12.73+/- 5.08 s, fracgs= -1.73+/- -3.11) =
- Power law index: -2.334+/- 2.194 (chi*-red= 0.74) -
= b k) b Lt b nd gl bl bbb o o g it
= KﬂwWﬁw ﬂﬁ*ﬁwwﬁﬂ*ﬁwﬂﬂ ﬁﬁuﬂﬁﬁwmwwwﬂﬁ WHWHHHHWHMﬁMﬂﬁﬂﬂHﬂwﬂ ﬁWWﬁmﬂﬁﬁﬂﬁfwﬂ%ﬁﬁﬂﬂﬂmﬂﬁjﬂﬂHHmﬂﬁﬁwﬁﬁﬂ*@
E 1 L L L L L L L L L 1 L L 1 L L E
0 100 200 30

0



